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Space for Rough Work

01.  The dimensions of intensity are

(1) M1L0T–3 (2) M2L1T–2

(3) M1L2T–2 (4) M2L0T–3

02.  A wheel of radius 3m rolls forward half a revolution on

a horizontal ground. The magnitude of the displacement

of the point of the wheel initially in contact with ground

is:

(1) 2� (2) 2

(3) 2 4 (4) 23 4

03.  The number of significant figures in 0.06900 is:

(1) 5 (2) 4
(3) 2 (4) 3

01.  

(1) M1L0T–3 (2) M2L1T–2

(3) M1L2T–2 (4) M2L0T–3

02.

(1) 2� (2) 2

(3) 2 4 (4) 23 4

03. 0.06900 

(1) 5 (2) 4
(3) 2 (4) 3P
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04.  An object is projected upwards with a velocity of 100

m/s. If g = 10 m/s2 then it will strike the ground in ap-

proximate

(1) 10 sec (2) 20 sec
(3) 15 sec (4) 5 sec

05.  A body travels a distance s1 with velocity v1 and dis-

tance s2 with velocity v2 in same direction. Calculate

average velocity of the body.

(1) 
1 2 1 2

1 2 2 1

s s v v

s v s v (2) 
1 2

1 2 2 1

v v

s v s v

(3) 
1 2 1 2

1 2 2 1

s s v v

s v s v (4) 1 2v v

2

06.  The block of mass ‘m’ moving on the frictionless hori-

zontal surface collides with the spring of spring con-

stant ‘k’ and compress it by length ‘L’. The maximum

momentum of block after collision.

(1) zero (2) 
2ML

K

(3) MKL (4) 
2KL

2M

07.  A ball is dropped from height ‘H’ on to a horizontal

surface. If the coefficient of restitution is ‘e’ then total

time after which it comes to rest is:

(1) 
2H 1 e

g 1 e (2) 
2H 1 e

g 1 e

(3) 
2

2

2H 1 e

g 1 e (4) 
2

2

2H 1 e

g 1 e

04. 100 m/s 

g = 10 m/s2 

(1) 10 sec (2) 20 sec
(3) 15 sec (4) 5 sec

05.  v1 s1 v2

s2 

(1) 
1 2 1 2

1 2 2 1

s s v v

s v s v (2) 
1 2

1 2 2 1

v v

s v s v

(3) 
1 2 1 2

1 2 2 1

s s v v

s v s v (4) 1 2v v

2

06. ‘m’ 

‘k’  

‘L’ 

(1) zero (2) 
2ML

K

(3) MKL (4) 
2KL

2M

07.  ‘H’ 

‘e’ 

(1) 
2H 1 e

g 1 e (2) 
2H 1 e

g 1 e

(3) 
2

2

2H 1 e

g 1 e (4) 
2

2

2H 1 e

g 1 eP
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08.  The blocks A and B of masses 3m and m respectively

are connected by massless and inextensible string. The

whole system is suspended by a mass less spring. The

magnitude of acceleration of A and B immediately after

the string is cut are

(1) g,g (2) g/3, g/3
(3) g/2, g/2 (4) g/3, g

09.  The position ‘x’ of a particle at time ‘t’ is given by :

at0v
x 1 e

a
Where v0 is constant and a > 0. The

dimensions of v0 and a are:

(1) M0LT–1 and T–1 (2) M0LT0 and T–1

(3) M0LT–1 and LT–2 (4) M0LT–1 and T

10.  You measure two quantities A = 1.0 m + 0.2 m, B = 2.0

m + 0.2 m. We should report correct value for AB as:

(1) 1.4 m + 0.4 m (2) 1.41 m + 0.15 m
(3) 1.4 m + 0.3 m (4) 1.4 m + 0.2 m

11.  A ball ‘B’ is at 300 cm distance from origin on a line

37º above horizontal. Another ball ‘A’ is projected di-

rectly aiming ‘B’ with initial velocity 700 cm/s. At the

same instant ‘B’ is relased from its position. How far

will ‘B’ have fallen when it is hit by ‘A’?

AB =
 3

00
 c

m

B

A
37º

(1) 90 cm (2) 80 cm

(3) 70 cm (4) 60 cm

08.  A B 3m m 

A B 

(1) g,g (2) g/3, g/3
(3) g/2, g/2 (4) g/3, g

09.  t 
at0v

x 1 e
a

 

v0 a > 0 

v0 a 

(1) M0LT–1 and T–1 (2) M0LT0 and T–1

(3) M0LT–1 and LT–2 (4) M0LT–1 and T

10. A = 1.0 m + 0.2 m, B = 2.0 m + 0.2 m

AB :

(1) 1.4 m + 0.4 m (2) 1.41 m + 0.15 m
(3) 1.4 m + 0.3 m (4) 1.4 m + 0.2 m

11. ‘B’ 37º 300 cm 

‘A’ 700 cm/sec 

‘B’ ‘B’ 

‘B’ 

‘A’ ?

AB =
 3

00
 c

m

B

A
37º

(1) 90 cm (2) 80 cm

(3) 70 cm (4) 60 cmP
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12.  Two vectors A
�

and B
�

are such that

A B A B
� �� �

then the angle between the two vec-

tors A
�

 and B
�

will  be:

(1) 0º (2) �/3
(3) �/6 (4) �/2

13.  Ratio between maximum range and square of time of

flight in angular projection motion is:

(1) 1 (2) 2
(3) 4 (4) 5

14.  A body of weight 5 kg is suspended as shown in figure.

The tension T1 in horizontal string (in kg - wt) is:

60º

T1

T2

2kg – wt

(1) 
2

3
(2) 

3

2

(3) 
2

3
(4) 

3

2

12.  A
�

B
�

A B A B
� �� �

A
�

 B
�

:

(1) 0º (2) �/3

(3) �/6 (4) �/2

13.  

(1) 1 (2) 2
(3) 4 (4) 5

14.  5 kg 

T1 (in kg - wt) 

60º

T1

T2

2kg – wt

(1) 
2

3
(2) 

3

2

(3) 
2

3
(4) 

3

2
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15.  In the given figure, a mass of 4 kg rests on a horizontal

plane. The inclination of plane is gradually increased.

The mass just begins to slide at � = 15º. What is coeffi-

cient of static friction between the block and the sur-

face.

 

mass 

15º

(1) 0.50 (2) 0.27
(3) 0.85 (4) 0.60

16.  When a stone is rotating in a circle by a string, then

which force provide the centripetal force

(1) Tension (2) Weight of stone

(3) both 1, 2 (4) none of above

17.  Which one of the following represents the x–t graph of

two objects A and B moving with zero relative speed?

(1) 

A

B

t

x

(2) 

A
B

t

x

(3) 

A
B

t

x

(4) B

A

t

x

15. 4 kg 

 �
= 15º 

 

mass 

15º

(1) 0.50 (2) 0.27
(3) 0.85 (4) 0.60

16.  

(1) (2) 

(3) 1, 2 (4) 

17.  

A B 

(1) 

A

B

t

x

(2) 

A
B

t

x

(3) 

A
B

t

x

(4) B

A

t

x
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18.  A particle moves along a straight line such that its dis-

placement at  any time ‘t’ is given by,

s = (t3 – 6t2 + 3t + 4) m What is the velocity of particle

when its acceleration is zero .

(1) 9 m/s (2) –9 m/s

 (3) 6 m/s (4) –6 m/s

19.  A force applied by an engine of a train of mass 2.05 ×

106 kg changes its velocity from 5 m/s to 35 m/s in 15

minutes. The power of engine is:

(1) 1.36 hp (2) 1.36 Mw
(3) 1.36 w (4) none

20.  In a ballistic demonstration a police officer fires bullet

of mass 100 g with a speed of 25 m/s on a wooden

block of thickness 4 cm. The bullet emerges with only

20% of its initial kinetic energy. What will be the emer-

gent speed of the bullet?

(1) 121 m/s (2) 141 m/s
(3) 112 m/s (4) 131 m/s

21.  AB is a frictionless inclined surface making an angle

of 30º with horizontal. ‘A’ is 6.3 m above the ground

while ‘B’ is 3.8 m above the ground. A block slides

down from ‘A’ initially starting from rest. Its velocity of

block on reaching ‘B’ is:
A

6.3 m

B
3.8 m

30º

(1) 7 m/s (2) 14 m/s

(3) 7.4 m/s (4) 4.9 m/s

18.  

‘t’ s = (t3 – 6t2 + 3t + 4) m 

(1) 9 m/s (2) –9 m/s

 (3) 6 m/s (4) –6 m/s

19. 2.05 × 106 kg 

5 m/s 35 m/s 

(1) 1.36 hp (2) 1.36 Mw
(3) 1.36 w (4) 

20.  

25 m/s 

20% 

(1) 121 m/s (2) 141 m/s
(3) 112 m/s (4) 131 m/s

21.  AB 30º 

‘A’ 6.3 m ‘B’ 3.8 m 

A 

‘B’ :

A

6.3 m

B
3.8 m

30º

(1) 7 m/s (2) 14 m/s

(3) 7.4 m/s (4) 4.9 m/sP
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22.  A ball of 4 kg mass and a speed of 3 m/s has a head on

elastic collision with a 6 kg mass initially at rest. The

speeds of both the bodies after collision are respec-

tively.

(1) 0.6 m/s & 2.4 m/s (2) –0.6 m/s & –2.4 m/s
(3) –0.6 m/s & 2.4 m/s (4) –2.4 m/s & 0.6 m/s

23.  A block of mass ‘m’ is connected to another block of

mass ‘M’ by a spring (massles) of spring constant ‘K’.

The block are kept on a smooth horizontal plane. Ini-

tially the block are at rest and spring is unstretched.

Then a constant force ‘F’ starts acting on the block of

mass ‘m’ to pull it. Find the force on block of mass ‘M’.

(1) 
Mm

M m
(2) 

F

M m

(3) 
mF

M m
(4) 

MF

M m

24.  Two masses of 8 kg and 4 kg are connected by a string

as shown in figure over a frictionless pulley. The accel-

eration of the system is:

m2 4 kgm 1

8 kg

60º

(1) –0.1 m/s2 (2) 4 m/s2

(3) 3 m/s2 (4) –2.31 m/s2

22.  4 kg 3 m/s 

6 kg 

(1) 0.6 m/s & 2.4 m/s (2) –0.6 m/s & –2.4 m/s
(3) –0.6 m/s & 2.4 m/s (4) –2.4 m/s & 0.6 m/s

23. ‘m’ ‘M’ 

‘K’ 

m ‘F’ 

‘M’ 

.

(1) 
Mm

M m
(2) 

F

M m

(3) 
mF

M m
(4) 

MF

M m

24.  8 kg 4 kg 

m2 4 kgm 1

8 kg

60º

(1) –0.1 m/s2 (2) 4 m/s2

(3) 3 m/s2 (4) –2.31 m/s2P
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25.  The numbers 2.745 and 2.735 on rounding off to 3 sig-

nificant figures will give:

(1) 2.75 and 2.74 (2) 2.74 and 2.73

(3) 2.75 and 2.73 (4) 2.74 and 2.74

26.  Which one is strongest force

(1) Gravitational force (2) Magnetic force

(3) Electrostatic force (4) Nuclear force

27.  A body starts from rest at time t = 0, the a – t graph is

shown in figure. The maximum velocity attained by the

body will be:

t (sec)
11

10

a (m/s )2

(1) 110 m/s (2) 55 m/s

(3) 650 m/s (4) 550 m/s

28.  Which of the following curve does not represent mo-

tion in 1–D.

(1) 

t

v

(2) 

t

v

(3) 

t

v

(4) 
t

v

25.  2.745 2.735 

(1) 2.75 2.74 (2) 2.74 2.73

(3) 2.75 2.73 (4) 2.74 2.74

26.  

(1) (2) 

(3) (4) 

27. t = 0, 

t (sec)
11

10

a (m/s )2

(1) 110 m/s (2) 55 m/s

(3) 650 m/s (4) 550 m/s

28.  

(1) 

t

v

(2) 

t

v

(3) 

t

v

(4) 
t

v
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29.  The width of river is 1 km. The velocity of boat is 5

km/h. The boat covered the width of river in shortest

time 15 minutes. Then the velocity of river steam is:

(1) 3 km/h (2) 4 km/h

(3) 29km / h (4) 41km / h

30.  A cricket ball is hit at 45º to the horizontal with a kinetic

energy E. The kinetic energy at highest point is:

(1) 0 (2) E/2

(3) E / 2 (4) E

29.  1 km 5 km/h 

15 

(1) 3 km/h (2) 4 km/h

(3) 29km / h (4) 41km / h

30.  45º E 

(1) 0 (2) E/2

(3) E / 2 (4) E
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31. Let mass of electron is half, mass of proton is two times

and mass of neutron is three fourth of original masses,

then new atomic weight of 16O atom :-

(1) increases by 37.5% (2) remains constant

(3) increases by 12.5% (4) decreases by 25%

32. Which of the following is a correct graph :-

(1) 

n

K.E

(2) 

n

K.E

�

(3) 

K.E

n

(4) 

Z

K.E

2

33. Which of the following pairs of ions are isoelectronic

and isostructural ?

(1) 2
3 3,ClO CO� � (2) 2

3 3,SO NO� �

(3) 2
3 3,ClO SO� � (4) 2 2

3 3,CO SO� �

34. A 1 kw radio transmitter operates at a frequency

of 800 Hz. How many photons per second does it

emit.

(1) 211.71 10� (2) 331.88 10�
(3) 236.02 10� (4) 202.85 10�

35. If number of protons in 2X �  is 16, then no. of electrons

in 2X �  will be :-

(1) 14 (2) 16

(3) 18 (4) None

31.

nksxquk rFkk U;wVªksu dk rhu pkSFkkbZ dj ns rks 16O 

(1) 37.5% (2) 

(3) 12.5% (4) 25% 

32.

(1) 

n

K.E

(2) 

n

K.E

�

(3) 

K.E

n

(4) 

Z

K.E

2

33.

(1) 2
3 3,ClO CO� � (2) 2

3 3,SO NO� �

(3) 2
3 3,ClO SO� � (4) 2 2

3 3,CO SO� �

34. 1 kw 800 Hz 

(1) 211.71 10� (2) 331.88 10�
(3) 236.02 10� (4) 202.85 10�

35. 2X � 16 2X �

(1) 14 (2) 16

(3) 18 (4) P
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36. The number of Significant figure in is/are ?

(1) 1 (2) 10

(3) 100 (4) Infinite

37. Which of the following has least de-Broglie

wavelenght ?

(1) e (2) P

(3) CO2 (4) SO2

38. The total number of value of 'm' for the electrons

in n = 4 is :-

(1) 4 (2) 8

(3) 16 (4) 32

39. 1 amu is :-

(1) 241.66 10�� kg (2) 271.66 10��  kg

(3) 
1

NA
(4) Both (2) and (3)

40. Find the charge of 48 g of Mg 2+ ions in coulombs :-
(1) 232.4 10 C� (2) 56.82 10 C�
(3) 53.86 10 C� (4) 51.93 10 C�

41. A hydrocarbon contains 91.3% carbon by mass. Find
the empirical formula of hydrocrabon :-
(1) CH (2) C2H3

(3) C7H8 (4) C3H5

42. Molarity of pure water is :-
(1) 1 M (2) 55.5 M
(3) 27.7 M (4) 80.5 M

43. Calculate the volume of water to be added to 400 mL
of seminormal HCl solution to make it decinormal :-
(1) 1000 mL (2) 1200 mL
(3) 1600 mL (4) 2000 mL

44. The molality of a sulphuric acid solution is 0.6 mol/kg.
The total weight of solution is if solvent 1 kg:-
(1) 1000 g (2) 980.3 g
(3) 1058.8 g (4) 1013.3g

36.

(1) 1 (2) 10

(3) 100 (4) 

37.

(1) e (2) P

(3) CO2 (4) SO2

38. n = 4 'm' 

(1) 4 (2) 8

(3) 16 (4) 32

39. 1 amu :-

(1) 241.66 10�� kg (2) 271.66 10��  kg

(3) 
1

NA
(4) (2) (3)  

40. 48 g , Mg 2+ ( ) 
(1) 232.4 10 C� (2) 56.82 10 C�
(3) 53.86 10 C� (4) 51.93 10 C�

41. 91.3% 

(1) CH (2) C2H3

(3) C7H8 (4) C3H5

42.
(1) 1 M (2) 55.5 M
(3) 27.7 M (4) 80.5 M

43. 400 mL HCl 

(1) 1000 mL (2) 1200 mL
(3) 1600 mL (4) 2000 mL

44. 0.6 mol/kg 
1 kg 

(1) 1000 g (2) 980.3 g
(3) 1058.8 g (4) 1013.3gP
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45. The correct order of ionic radii of the following
species is :-

(1) 2 2Se I Br O F

(2) 2 2I Se O Br F

(3) 2 2Se I Br F O

(4) 2 2I Se Br O F
46. Which has lowest electron affinity ?

(1) O (2) S
(3) Se (4) Te

47. Which has lowest ionisation enthalpy ?
(1) Chlorine (2) Oxygen
(3) Nitrogen (4) Neon

48 . Elements with electronic configuration ns1 are
known as :-
(1) inert gases (2) alkali metals
(3) transuranic elements (4) Halogens

49. The number of elements known at that time when
Mendeleev arranged them in the periodic table was :-
(1) 60 (2) 71
(3) 63 (4) 65

50. Which is correct about ionisation enthalpies ?

(1) Ne Ne�� (2) Ne Ne� �
(3) Both (1) and (2) (4) None of these

51. Octet rule is not satisfied for which of the following
molecules :-
(1) Cl

2 (2) ClO2

(3) CO2 (4) N2

52. Which of the following is a hypovalent compound ?
(1) NF3 (2) NH3

(3) BF3 (4) IF7

45.

(1) 2 2Se I Br O F

(2) 2 2I Se O Br F

(3) 2 2Se I Br F O

(4) 2 2I Se Br O F
46.

(1) O (2) S
(3) Se (4) Te

47.
(1) (2) 
(3) (4) 

48. ns1 

(1) (2) 
(3) (4) 

49.

(1) 60 (2) 71
(3) 63 (4) 65

50.

(1) Ne Ne�� (2) Ne Ne� �
(3) (1) (2) (4) 

51.

(1) Cl2 (2) ClO2

(3) CO2 (4) N2

52.
(1) NF3 (2) NH3

(3) BF3 (4) IF7
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53. Which is not planar ?

(1) 2 2CH C CH� �

(2) 2 2CH CH�

(3) 2 2CH CH CH CH� � �

(4) 2CH CH C CH� � �
54. Shape of NH3 is :-

(1) Tetrahedral (2) Pyramidal
(3) Square Planar (4) Planar

55. Which of the following species has the shortest bond
lenght ?

(1) 2N � (2) 2N

(3) 2N � (4) 2
2N �

56. Shape of XeF4 is :-
(1) Tetrahedral (2) Square planar
(3) Square pyramidal (4) trigonal Pyramidal

57. Which of the following species contain only �  bond ?

(1) SiF4 (2) 3NO�

(3) HNC (4) 2
3SO �

58. In which of the following molecules, central atom is sp2

hybridised :-

(1) BeF2 (2) BCl3

(3) NH3 (4) ClF3

59. The number of non-bonding electrons pairs in O2 mol-

ecule is :-

(1) 2 (2) 6

(3) 4 (4) 8

60. Among the following the element having highest

ionisation enthalpy as well as positive electron gain en-

thalpy  is :-

(1) H (2) F

(3) He (4) Na

53. ?

(1) 2 2CH C CH� �

(2) 2 2CH CH�

(3) 2 2CH CH CH CH� � �

(4) 2CH CH C CH� � �
54. NH3 

(1) (2) 
(3) (4) 

55.

(1) 2N � (2) 2N

(3) 2N � (4) 2
2N �

56. XeF4 
(1) (2) 
(3) (4) 

57. �   ?

(1) SiF4 (2) 3NO�

(3) HNC (4) 2
3SO �

58. sp2 

(1) BeF2 (2) BCl3

(3) NH3 (4) ClF3

59. O2 

(1) 2 (2) 6

(3) 4 (4) 8

60.

(1) H (2) F

(3) He (4) NaP
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61. How many of the following invertebrates exchange O2

with CO2 by simple diffusion (Sponges, Coelenterates,

flatworms, Arthropoda, Mollusca, Pisces,)

(1) 6 (2) 5

(3) 4 (4) 3

62. Nasopharynx opens through___ of the larynx region

into the trachea.

(1) glottis (2) gullet

(3) epiglottis (4) All of these

63. Name the pulmonary disease in which alveolar surface

area involved in gas exchange is drastically reduced

due to damage in the alveolar walls.

(1) Pleurisy (2) Pneumonia

(3) Emphysema (4) Asthma

64. A center that moderates the functions of the respiratory

rhythm center is located in:

(1) Dorsal medulla oblongata

(2) Ventral medulla oblongata

(3) Pons Varolii

(4) Pre central gyrus of the cerebrum

65. Which of the following is true for expiration except

(1) thoracic chamber volume reduces

(2) Diaphragm contracts

(3) pulmonary volume decreases

(4) All of these

66. ICBN stands for:

(1) Indian Congress of Biological Names

(2) International Code of Botanical Nomenclature

(3) International Congress of Biological Names

(4) Indian Code of Botanical Nomenclature

61. CO2

O2 

(

)

(1) 6 (2) 5

(3) 4 (4) 3

62. ___ 

(1) (2) 

(3) (4) 

63.

(1) (2) 

(3) (4) 

64.

___________

(1) 

(2) 

(3) 

(4) 

65. ---------

(1) 

(2)

(3) 

(4) 

66. ICBN :

(1) 

(2) 

(3) 

(4) P
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67. The quick referral system in taxonomic studies is

(1) Museum (2) Herbarium

(3) Botanical Gardens (4) Zoological Parks

68. The system of the naming of organisms was developed

by

(1) Robert Hooke (2) Carolus Linnaeus

(3) T. Schwann (4) Ernst Mayr

69. In five kingdom classification, which single kingdom

contains blue-green algae, nitrogen fixing bacteria and

methanogenic archaebacteria

(1) Monera (2) Protista

(3) Plantae (4) Fungi

70. Fungi usually store the reserve food material in the form

of

(1) Starch (2) Glycogen and oil

(3) Lipid (4) Protein

71. T. O. Diener discovered a

(1) free infectious RNA

(2) free infectious DNA

(3) infectious protein

(4) bacteriophage

72. Which of the following shows coiled RNA strand and

capsomeres?

(1) Polio virus (2) Tobacco mosaic virus

(3) Measles virus (4) Retrovirus

73. Consider the following sets of some animals. The set

that consists of all animals belonging to the same phylum

is:

(1) Pinctada, Aplysia, Chaetopleura

(2) Dentallium, Pila, Echinus

(3) Asterias, Antedon, Ascidia

(4) Adamsia, Gorgonia, Pleurobrachia

67.

(1) (2) 

(3) (4) 

68. ______ 

(1) (2) 

(3) (4) 

69.

(1) (2) 

(3) (4) 

70. ______ 

(1) (2) 

(3) (4) 

71. T. O. ____ 

(1) RNA

(2) DNA

(3) 

(4) 

72. RNA 

(1) (2) 

(3) (4) 

73.

(1) 

(2) 

(3) 

(4) P
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74. Which of the following animals is not viviparous?

(1) Flying fox (bat) (2) Elephant

(3) Platypus (4) Whale

75. Ctenophora is an exclusively marine phylum, the other

such phylum is

(1) Mollusca (2) Echinodermata

(3) Porifera (4) Coelenterata

76. Which of the following flatworm is having high

regeneration capacity?

(1) Hydra (2) Tapeworm

(3) Liverfluke (4) Planaria

77. How many of the following is the member of

Echinodermata?

Sea hare, Sea cucumber, Sea lily, Sea urchin, Sea- pen,

Sea fan, Sea anemone

(1) 7 (2) 4

(3) 3 (4) 2

78. Which of the following plants is not source of medicine?

(1) Ashwagandha (2) Belladonna

(3) Tobacco (4) All of these

79. Which of the following is an example of whorled

phyllotaxy?

(1) Alstonia (2) Mustard

(3) Sunflower (4) China rose

80. To represent a group of tepals, the symbol used is

(1) P (2) T

(3) K (4) C

81. The sheath of radicle in monocots is

(1) Coleoptile (2) Scutellum

(3) Coleorrhiza (4) Aleurone layer

82. Fat soluble pigments like xanthophylls present in: are

(1) Chromoplasts (2) Aleuroplasts

(3) Elaioplasts (4) Amyloplasts

74.

(1) ( ) (2) 

(3) (4) 

75. ______ 

(1) (2) 

(3) (4) 

76.

(1) (2) 

(3) (4) 

77.

(1) 7 (2) 4

(3) 3 (4) 2

78.

(1) (2) 

(3) (4) 

79.

(1) (2) 

(3) (4) 

80.

(1) P (2) T

(3) K (4) C

81.

(1) (2) 

(3) (4) 

82.

(1) (2) 

(3) (4) P
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83. Endomembrane system is formed because of the

(1) coordinated functions of the membranous organelles

(2) coordinated functions of the membraneless

organelles

(3) coordinated functions of all cell organelles

(4) All of these

84. Which of the following is true for lysosomes

(1) membrane bound vesicles

(2) formed by golgi body

(3) rich in hydrolytic enzymes

(4) All of the above

85. The common component between the cell wall of algae

and plants is

(1) cellulose (2) Hemicellulose

(3) Both A and B (4) Mannans

86. Middle lamella is mainly composed of

(1) hemicellulose (2) muramic acid

(3) calcium pectate (4) phoshoglycerides

87. The complex formed by a pair of synapsed homologous

chromosomes is called

(1) equatorial plate (2) Kinetochore

(3) bivalent (4) axoneme

88. Anabolic steroids are ____ versions of testosterone.

(1) Efective (2) Synthetic

(3) Natural (4) Ineffective

89. Chemical name of T4 is

(1) Tetradiodothyronine (2) Tridiodothyronine

(3) Tetraiodothyronine (4) Triiodothyronine

90. Reduction in pH of blood will

(1) reduce the blood supply of the brain

(2) decrease the affinity of hemoglobin with oxygen

(3) release bicarbonate ions by the liver

(4) reduce the rate of heart beat

83.

(1) 

(2) 

(3) 

(4) 

84.

(1)

(2)

(3)

(4) 

85.

(1) (2)

(3) A B (4)

86.

(1) (2)

(3) (4)

87.

(1) (2)

(3) (4)

88.

(1) (2) 

(3) (4) 

89. T4 

(1) (2) 

(3) (4) 

90. pH 

(1) 

(2) 

(3) 

(4) P
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MAT
91. College : Dean :: Museum : ?

(1) Curator (2) Warden
(3) Custodian (4) Supervisor

92. 72 : 18 :: 56 : ?
(1) 63 (2) 66
(3) 22 (4) 124

93. 0.5, 2, 4.5, 8, 12.5, ?
(1) 16 (2) 17
(3) 16.5 (4) 18

94. In a certain code, BELIEF is written as AFKKDI. how
is SELDOM written in the code?
(1) RDKCNL (2) RFKENM
(3) RFKFNP (4) TFKENP

95. How many Educated people are employed ?

(1) 24 (2) 16
(3) 18 (4) 26

96. Four forms of a dice are shown below in this dice which
digit will be on the surface opposite to the digit 3?

(1) 5 (2) 4
(3) 2 (4) 6

91.

(1) (2) 

(3) (4) 

92. 72 : 18 :: 56 : ?

(1) 63 (2) 66

(3) 22 (4) 124

93. 0.5, 2, 4.5, 8, 12.5, ?

(1) 16 (2) 17

(3) 16.5 (4) 18

94. ‘BELIEF’ AFKKDI’ 

 SELDOM

(1) RDKCNL (2) RFKENM

(3) RFKFNP (4) TFKENP

95.

f’kf{kr

dk;Zjr

xzkeh.k

(1) 24 (2) 16

(3) 18 (4) 26

96.

5

(1) 5 (2) 4

(3) 2 (4) 6P
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97. Sumit walks 20 m. to the East from point ‘A’, Then
walks 20 m. in South-West direction. Then walks 20 m
in North-West direction and reaches at point B. Find
distance b/w A and B.?
(1) 0 m. (2) 20 ( 2  –1) m.
(3) 20 m. (4) 20 2  m.

98. In a row of girls, If Sujata is 10th from the left and
Namrata is 9th from the right, interchange their positions,
Sujata becomes 23rd from the left. How many girls are
there in the row?
(1) 32 (2) 31
(3) 30 (4) 34

99. Introducing a man to her husband a woman said
“His brother’s father is the only son of my grand
father”. How is the woman related to this man?

(1) Mother (2) Aunt
(3) Sister (4) Daughter

100. How many triangles are there in the following figure ?

(1) 11 (2) 13
(3) 9 (4) 15

97. ‘A’ 20 

‘B’ A B

(1) 0 m. (2) 20 ( 2  –1) m.

(3) 20 m. (4) 20 2  m.

98. 10

9

23

(1) 32 (2) 31

(3) 30 (4) 34

99.

“ ”

(1) (2) 

(3) (4) 

100.

(1) 11 (2) 13

(3) 9 (4) 15
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